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QUESTION 1

A customer is expanding an ONTAP 9.4 switchless 2-node FAS2750 cluster. Two AFF A220 nodes will be added to the
cluster. 

In addition to the cluster nodes, what else is required to perform the cluster expansion? 

A. Additional management switches are required. 

B. An upgrade to ONTAP 9.5 is required. 

C. Cluster switches are required. 

D. Additional DS224C shelves are needed. 

Correct Answer: A 

 

QUESTION 2

A company has 20 ESX hosts. Ten of the hosts are connected using FC, and the rest are connected over iSCSI. The
FC host HBA queue depth is set to 32, and the iSCSI LUN queue depth is set to 64. The FC hosts are now experiencing
random connectivity issues. 

In this scenario, what would be the reason for the disconnects? 

A. The FC host has a lower queue depth. 

B. According to the IMT, unsupported HBA firmware is in use. 

C. All of the hosts are part of the same cluster. 

D. The queue depth is not consistent across the cluster. 

Correct Answer: A 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-sanconf% 2FGUID-
A055B184-0876-4376-9C75-35FE8C9BE832.html 

 

QUESTION 3

Which three components are required for NetApp iSCSI LUN access on Linux servers? (Choose three.) 

A. device-mapper-multipath 

B. NetApp SnapDrive 

C. scsi-target-utils 

D. iscsi-initiator-utils 

E. NetApp Host Utilities 
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Correct Answer: ACE 

 

QUESTION 4

An administrator wants to implement FCoE for connectivity of an AFF A200 using VLAN 3011 for fabric traffic across
VSAN 11. When configuring the Nexus switches for FCoE connectivity, which two actions are required? (Choose two.) 

A. Create a new virtual FC interface and bind the physical interface to it. 

B. Add the virtual interface to the VSAN. 

C. Create a port channel and add all of the physical network ports that will have FCoE LIFs. 

D. Add the adapter MAC address to the network port configuration where the node is connected. 

Correct Answer: BC 

 

QUESTION 5

You are provisioning a LUN using an ISCSI initiator on an ESX host. You disable Ethernet flow control for 

all ports but are experiencing Performance issues. 

In this scenario, which two actions would improve the performance issue? (Choose two.) 

A. Set the MTU settings 1500 for optimal performance. 

B. Dedicate your ports to ISCSI traffic. 

C. Enable jumbo frames across the entire data path. 

D. Confirm that your host .mil storage polls are connected to a different network. 

Correct Answer: BC 
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